DIVISION 03- CONCRETE 9 Footing Forming And Accessories Image: Continuous Footing Formwork 1000 SF \$6,71 \$7,045.50 10 Continuous Footing Formwork 2336.82 SF \$6,18 \$14,41.55 11 Grade Beam Formwork 6300.0 SF \$5,92 \$37,296.00 12 Slab on Grade Formwork 6300.0 SF \$6,031.67 13 Spread Footing Reinforcement 6416.67 LBS \$0,94 \$24,162.77 14 Continuous Footing Reinforcement 25705.1 LBS \$0,94 \$24,2162.77 15 Grade Beam Reinforcement 47714.1 LBS \$0.94 \$24,162.77 16 Slab on Grade Reinforcement 115863.0 LBS \$0.94 \$44,851.21 17 Concrete Toping Reinforcement 115863.0 LBS \$0.94 \$44,851.21 18 Finish to Slab On Grade 31809.4 SF \$1 \$20,357.99 19 Miscellaneous Concrete Curb, Pad 77498.8 SF \$0.23								
1 1	TEM	DWG. #	DESCRIPTION	QUANTITY	UNIT	UNIT COST	TOTAL COST	TRADE COST
1 1			GENERAL REQUIREMENTS					
2 Remits 1 15 50 50 4 District Care-up 1 15 50 50 4 District Care-up 1 15 50 50 6 District Care-up 1 15 50 50 6 District Care-up 1 15 50 50 7 Sabitat (General Requirement) 15 51 546,487.73 7 Sabitat (General Requirement) 7 55 514,441.55 7 Sabitat (General Requirement) 235.82 57 551.4 514,441.55 7 Sata on Gale Furmwork 235.82 57 552.9 597.755.02 597.755.02 597.755.02 597.755.02 597.755.02 597.755.02 597.755.00 500.05	1		1 · · · · ·	1	LS	\$0	\$0	
1 1 15 90 90 1 15 90 90 1 15 90 90 1 15 90 90 1 15 90 90 1 15 90 90 1 15 90 90 1 15 90 90 1 15 90 90 1 15 90 90 1 15 90 90 1 15 90 90 1 150 97 51 546,4 1 150 97 56.71 97,045.50 1 90 97 55 50.71 97,045.50 1 15 90 97 55 50.71 97,045.50 1 100 100 100 100 100 100 100 100 100 100 100 100					LS			
1 1			Final Clean-up	1	LS			
Image: state in the s	4		Mobilization Costs	1	LS	\$0	\$0	
6 1 1:5 90 90 8 Saffolding 31199.82 57 \$1 \$46,487.73 8 Substal (General Requirement) DVISION 05- COCKETE \$26,487.73 \$26,487.73 9 Posting Forming And Accessoria 1060 SF \$5,12 \$7,045.50 10 Continuous Footing Torniwork 2336.82 SF \$5,12 \$32,066.00 12 Staba of ade formiwork 6300.00 SF \$5,522 \$32,206.00 13 Grade learm Formiwork 6300.00 SF \$5,522 \$32,206.00 14 Continuous Footing Reinforcement 6416.67 LBS \$0.90.4 \$59,212.00 15 Grade learm Reinforcement 275.10 LBS \$0.90.4 \$59,212.00 16 Glabo of ade leard Reinforcement 2778.1 LBS \$0.90.4 \$59,212.00 17 Concrete Toping Beinforcement 7749.8 SF \$0.13 \$50,20.57.90 18 Glado Grade Inforcement 17740.8 SF \$0.23	5		Project Overheads	1	LS	\$0		
Scarfolding 31199.82 57 51 346,487.73 DVISION 03- CONCRTE Statutal (General Requirements) Statutal (Genera Requirements) Statutal (General Re	6			1	LS	\$0	\$0	
Subtoal (General Requirements) DIVISION 03 - CONCRETE Sec. Sec. 9 Footing forming And Accessories 100 57 56.71 57.045.5.0 9 Spread Footing formwork 2336.82 55 56.18 514,441.55 11 Grinde Barn formwork 6300.0 57 55.0.21 537.295.000 12 Sibio In Grade Enrowork 779.0 55 56.0.3 56.0.001.87 13 Grade Baam Fortmwork 779.0 55 50.001.87 50.000.8 14 Continuous Footing Reinforcement 25703.1 18.5 50.94 550.200 15 Grade Baam Reinforcement 25703.1 18.5 50.94 50.00 16 Sibio In Grade Enrorement 47714.1 18.5 50.04 53.2000 18 Finds to Sibio D Grade 1389.4 57 51.5 50.23 51.7 50.00 18 Finds to Sibio D Grade Concrete 142.8 CY 516.5 53.88.00 20 Spread Footing Concrete 142.8 <td< td=""><td>7</td><td></td><td>Temporary Control & Facilities</td><td>1</td><td>LS</td><td>\$0</td><td>\$0</td><td></td></td<>	7		Temporary Control & Facilities	1	LS	\$0	\$0	
Division 03. CONCEPTE Vol Vol 3 Spread Footing Add Accessories 5 5 56.71 \$7.045.50 10 Continuous Footing Formwork 233.082 \$F \$6.611 \$7.045.50 12 Grande Beam Fornwork 6300.0 \$F \$5.52 \$5.02 \$5.00.0 13 Grande Beam Fornwork 778.90 \$F \$5.61.8 \$5.04.441.57 14 Continuous Footing Reinforcement 641.667 185 \$0.04.4 \$56.21.167.7 15 Stab on Grade Reinforcement 63000 185 \$0.94.4 \$54.016.77 16 Stab on Grade Reinforcement 1898.0 185 \$0.94.5 \$55.22 \$57.22 16 Stab on Grade Reinforcement 1898.0 185 \$0.94.5 \$52.20.00 \$55.22 \$57.22 \$57.22 \$57.22 \$57.23 \$57.23 \$57.23 \$57.23 \$57.23 \$57.23 \$57.23 \$57.23 \$57.23 \$57.23 \$57.23 \$57.23 \$57.23 \$57.23 \$57.25 \$57.23 <td>8</td> <td></td> <td>Scaffolding</td> <td>31199.82</td> <td>SF</td> <td>\$1</td> <td>\$46,487.73</td> <td></td>	8		Scaffolding	31199.82	SF	\$1	\$46,487.73	
Image: speed from the start of the			Subtotal (General Requirements)					<u>\$46,488</u>
9 Spread Footing Formwork 100 SF 95.71 57.045.00 10 Continuous Footing Formwork 2336.82 SF 56.11 S7.045.00 12 Stade Beam Formwork 778.0 SF 55.32 537.246.00 12 Stabe on Grade Formwork 778.0 SF 56.43 55.008.58 13 Spread Footing Reinforcement 0416.67 LBS 50.94 55.01.21 14 Continuous Footing Reinforcement 25705.1 LBS 50.94 55.02.21 16 Stabe on Grade Reinforcement 47714.1 LBS 50.94 55.00.81.12 17 Concrete Neinforcement 47714.1 LBS 50.94 55.00.81.12 18 Finish To Stab On Grade 3109.94 55 51 50.00 18 Finish To Stab On Grade 3109.94 55 52.35.86.50 19 Miscellaneous Concrete 33.0 CY 51.65 53.7866.00 12 Contruous Footing Concrete 33.0 CY 51.65 </td <td></td> <td></td> <td>DIVISION 03- CONCRETE</td> <td></td> <td></td> <td></td> <td>, ,</td> <td></td>			DIVISION 03- CONCRETE				, ,	
10 Continuous footing formwork 233.82 SF 95.18 \$14.41.55 11 Stab on Grade Formwork 6300.0 SF \$5.29 \$37.296.00 13 Stab on Grade Formwork 778.0 SF \$5.43 \$5.008.58 14 Concrete Reinforcement 6416.67 ILES \$9.04 \$52.415.277 14 Continuous Footing Reinforcement 25705.1 ILES \$9.04 \$52.427.77 15 Grade Beam Reinforcement 25705.1 ILES \$9.09.44 \$52.20.00 16 Concrete Toping Reinforcement 47714.1 ILES \$9.04 \$52.20.27.79 17 Concrete Toping Reinforcement 11566.30 ILES \$9.04 \$52.20.37.79 18 Miscellaneous Concrete 77498.8 \$5 \$0.23 \$17.82.77 20 Spread Footing Concrete 30.0 Cr \$185 \$9.20.20 21 Concrete Toping Meinforcement 30.0 Cr \$185 \$52.38.51.12 22 Grade Beam Concrete <td< td=""><td></td><td></td><td>Footing Forming And Accessories</td><td></td><td></td><td></td><td></td><td></td></td<>			Footing Forming And Accessories					
11 Crade Beam Formwork 630.0 SF 55.92 53.226.00 12 Stab on Grade Formwork 778.9 SF 55.02.3 55.008.58 13 Concrete Bein 778.9 SF 55.02.3 55.008.58 13 Concrete Bein 125 50.94 55.03.167 14 Continuous Footing Reinforcement 25705.1 185 50.94 524.162.77 15 Grade Beam Reinforcement 25705.1 185 50.94 554.22.20.01 16 Stab on Grade Reinforcement 47714.1 185 50.94 544.851.21 17 Concrete Toging Reinforcement 11368.5.0 185 50.94 544.851.21 18 Finish To Stab On Grade 31809.4 SF 510.23 517.827.79 20 Spread Footing Concrete 3180.4 SF 50.23 517.824.72 21 Continuous footing Concrete 320.0 CY 516.5 57.806.00 21 Eventor PH 30.0 FA 58.24	9		Spread Footing Formwork	1050	SF	\$6.71	\$7,045.50	
12 Slab on Grade Fornwork 778.9 SF \$6.43 \$5,008.58 13 Spreaf Footing Reinforcement 6416.67 LBS \$0.94 \$54,162.77 14 Conting Reinforcement 63000 LBS \$0.94 \$54,162.77 15 Grade Reinforcement 63000 LBS \$0.94 \$54,162.77 16 Slab on Grade Reinforcement 47714.1 LBS \$0.94 \$54,216.77 17 Grade Reinforcement 47714.1 LBS \$0.94 \$54,216.77 18 Goncrete 115663.0 LBS \$0.94 \$54,216.77 19 Miscellaneous Concrete 3300.4 SF \$1 \$20.337.99 19 Miscellaneous Concrete \$15.5 \$23.586.50 \$23.586.50 20 Spreaf Footing Concrete \$14.2.8 CY \$1155 \$32.586.50 21 Continuous Footing Concrete \$30.0 CY \$155 \$32.586.50 22 Grade Beam Concrete \$30.0 CY \$155 \$32.586.50 22 Grade Beam Concrete \$30.0 CY \$155 \$34.9435.39 31 Bib on Grade Concrete Including Placing \$40.0 CY \$152.344 \$49.658.73	10		Continuous Footing Formwork	2336.82	SF	\$6.18	\$14,441.55	
Concrete Relat C S0.00 33 Spread footing Reinforcement 6416.67 1.85 \$0.94 \$50.31.67 14 Continuous Footing Reinforcement 62705.1 1.85 \$0.94 \$524,162.77 15 Grade Beam Reinforcement 47714.1 1.85 \$0.94 \$542,162.77 16 Slab on Grade Reinforcement 47714.1 1.85 \$0.94 \$548,851.21 17 Concrete Toping Reinforcement 1.15663.0 1.85 \$0.94 \$548,851.21 18 Finish To Slab On Grade 31809.4 \$F \$11 \$20.357.99 19 Miscellaneous Concrete \$9.3 \$120.357.99 \$13 \$20.857.99 12 Continuous Footing Concrete \$3.00 CY \$165 \$58,831.11 12 Continuous Footing Concrete \$3.00 CY \$155 \$57,806.00 12 Elevator Pit 3.0 CY \$157 \$49,833.33 13 Stab deg 3.1.7 CY \$157 \$49,435.39 <t< td=""><td>11</td><td></td><td>Grade Beam Formwork</td><td>6300.0</td><td>SF</td><td>\$5.92</td><td>\$37,296.00</td><td></td></t<>	11		Grade Beam Formwork	6300.0	SF	\$5.92	\$37,296.00	
Spread Footing Reinforcement 6416.67 I.85 \$0.94 \$6,031.67 14 Continuous Footing Reinforcement 25705.1 LBS \$0.94 \$52,000 15 Grade Beam Reinforcement 47714.1 LBS \$0.94 \$52,200.0 16 Concrete Toping Reinforcement 47714.1 LBS \$0.94 \$54,851.21 17 Concrete Toping Reinforcement 47714.1 LBS \$0.00 \$100.00 18 Increte Toping Reinforcement 115863.0 LBS \$0.02 \$17,824.72 19 Miscellaneous Concrete \$133.0 LS \$20,357,99 \$165 \$23,586.50 12 Continuous Footing Concrete \$33.5 CY \$165 \$57,7806.00 13 Itexator Pit 3.0 EA \$8,654 \$25,561.97 16 Ifonto Foot Deck HII 77424.8 \$8 \$15 \$949.39.39 12 Itexator Pit 3.0 EA \$8,056.9 \$25,961.97 11 Tritcki Lightweight Concrete Topping 1.10<	12		Slab on Grade Formwork	778.9	SF	\$6.43	\$5,008.58	
14 Continuous footing Reinforcement 25705.1 I.BS \$0.94 \$24,162.77 15 Grade Beam Reinforcement 63000 I.BS \$0.94 \$\$42,162.77 15 Grade Reinforcement 115863.0 185 \$0.94 \$\$42,162.77 17 Concrete Toping Reinforcement 115863.0 IBS \$0.94 \$\$48,851.11 17 Concrete 115863.0 IBS \$0.94 \$\$48,851.11 16 ISIA On Grade Reinforcement 115863.0 IBS \$0.00 18 Finish To Siab On Grade 77498.8 \$F \$0.23 \$17,824.72 20 Spread Footing Concrete 142.8 CY \$165 \$\$83,81.11 21 Continuous Footing Concrete 30.0 CY \$165 \$\$83,81.11 21 Continuous Footing Concrete 30.0 CY \$165 \$\$83,81.11 22 Grade Beam Concrete Including Placing 54.0 CY \$162.34 \$\$57,805.00 23 Idevator Ph 30 Ro Grade Concrete In			Concrete Reinf				\$0.00	
15 Grade Beam Reinforcement 63000 LBS \$0.94 \$59,220.00 16 Slab on Grade Reinforcement 47714.1 LBS \$0.94 \$44,851.21 17 Concrete Toping Reinforcement 115858.0 LBS \$0.94 \$108,911.22 19 Miscellaneous Concrete Cub, Pad 77498.8 \$F \$1 \$20,357.99 20 Spread Footing Concrete 53.5 CY \$165 \$52,386.50 21 Contracte Cub, Pad 77498.8 \$F \$13 \$57,806.00 23 Elevator Pit 3.00 EA \$58,654.4 \$25,961.97 24 Finish to Floor Deck Fill 77428.8 \$F \$1 \$49,435.39 24 Finish to Floor Deck Fill 77428.8 \$F \$1 \$49,435.39 25 Slab on Grade Concrete Topping 123.00 CY \$252.00 \$276,750.00 28 Streed Metal Framing Subtotal (Concrete 123.00 CY \$225.00 \$27,67,50.00 29 Miscellaneous Boits and Co			Spread Footing Reinforcement	6416.67	LBS	\$0.94	\$6,031.67	
16 Slab on Grade Reinforcement 47714.1 LBS \$0.94 \$44,851.21 17 Concrete Toping Reinforcement 115863.0 LBS \$0.94 \$108,911.22 18 Finish To Slab On Grade 31809.4 \$F \$11 \$20,037.99 19 Miscellaneous Concrete-Curb, Pad 77498.8 \$F \$0.23 \$17,824.72 20 Spread Footing Concrete 1343.5 Cr \$165 \$58,831.11 21 Controusus Footing Concrete 142.8 Cr \$165 \$52,3586.50 22 Grade Beam Concrete 130.0 EA \$8,654 \$22,961.97 24 Finish to Floor Deck Fill 77242.8 \$F \$1 \$49,435.39 25 Slab on Grade Concrete Including Placing \$40.0 Cr \$1557 \$49,62.93 27 3 1/2' Thick Lightweight Concrete Topping 120.0 Cr \$25,50.0 \$276,750.00 \$280,1 28 Studtotal (Concrete) DIVISION 05- METALS \$37,78 \$15,501,578.00 \$31,501,578.00 29 Miscellaneous Bolts and Connections 46.4 TON \$3,240	14			25705.1	LBS	\$0.94	\$24,162.77	
17 Concrete Toping Reinforcement 115863.0 LBS \$0.94 \$108,911.22 18 Finish To Sibb On Grade 31809.4 \$r \$1 \$0.00 19 Miscellaneous Concrete 31809.4 \$r \$1.5 \$2.3357.99 19 Miscellaneous Concrete 142.8 \$r \$165 \$5.831.11 20 Spread Footing Concrete 142.8 \$r \$1515 \$52.3566.50 21 Continuus Footing Concrete 142.8 \$r \$1155 \$52.3566.50 22 Grade Beam Concrete 142.8 \$r \$1155 \$52.3566.50 23 Elevator Pit 3.0 EA \$8.654 \$52.961.97 24 Finish to Floor Deck Fill 77742.8 \$r \$1.4\$ \$43,433.39 25 Slab Cdge 31.7 \$r \$2.566.50 \$27.6750.00 26 Bubtal (Concrete) 1230.0 \$r \$24.50 \$27.750 \$27.757.50.00 28 Structural Steel 463.4 TON \$3.240 \$1,501,578.00 \$2880,1 29 Miscellaneous Boits and Connections <td>15</td> <td></td> <td>Grade Beam Reinforcement</td> <td>63000</td> <td>LBS</td> <td>\$0.94</td> <td>\$59,220.00</td> <td></td>	15		Grade Beam Reinforcement	63000	LBS	\$0.94	\$59,220.00	
Concrete Concrete Stor \$0.00 18 Finish To Siab On Grade 31809.4 SF \$1 \$20,357.99 19 Miscellaneous Concrete-Curb, Pad 77498.8 SF \$0.23 \$17,824.72 20 Spread Footing Concrete 142.8 CY \$3165 \$8,831.11 21 Continuous Footing Concrete 142.8 CY \$3165 \$57,806.00 22 Grade Beam Concrete 30.0 EA \$86,654 \$57,806.00 23 Elevator Pit 3.0 EA \$86,654 \$57,806.00 24 Finish to Floor Deck Fill 7724.28 \$F \$1 \$49,433.39 25 Slab on Grade Concrete Including Placing 540.0 CY \$162.34 \$87,658.73 26 Slab tage 31.7 CY \$152 \$4,496.35 20 27 3.1/2" Thick Lightweight Concrete Topping 1230.0 CY \$225.00 \$276,750.00 28 Steel Metal Framing 2600.0 \$F \$44.6 <td< td=""><td>16</td><td></td><td>Slab on Grade Reinforcement</td><td>47714.1</td><td>LBS</td><td>\$0.94</td><td>\$44,851.21</td><td></td></td<>	16		Slab on Grade Reinforcement	47714.1	LBS	\$0.94	\$44,851.21	
18 Finish To Slab On Grade 31809.4 SF \$1 \$20,357.99 19 Miscellaneous Concrete - Curb, Pad 77498.8 SF \$5.0.3 \$17,824.72 20 Spread Footing Concrete 53.5 CY \$5165 \$52,3586.50 22 Grade Beam Concrete 142.8 CY \$5165 \$52,3586.50 23 Elevator Pt 3.0 EA \$86,654 \$52,961.97 24 Finish to Floor Deck Fill 77242.8 SF \$1 \$49,435.39 25 Slab on Grade Concrete Including Placing 540.0 CY \$152.3 \$49,435.39 26 Slab Edge 3.1.7 CY \$252.961.37 \$49,62.33 27 Subtotal (Concrete Topping 1230.0 CY \$252.90 \$276,750.00 28 Steel Metal Framing Structural Steel \$5157 \$44.6 \$115,934.00 Miscellaneous Bolts and Connections 46.4 TON \$3,240 \$15,51,256.29 30 Rof Screen, Corrugated Metal Panel, Including Tube Steel Framing <td>17</td> <td></td> <td>Concrete Toping Reinforcement</td> <td>115863.0</td> <td>LBS</td> <td>\$0.94</td> <td>\$108,911.22</td> <td></td>	17		Concrete Toping Reinforcement	115863.0	LBS	\$0.94	\$108,911.22	
19 Miscellaneous Concrete- Curb, Pad 77498.8 SF \$0.23 \$17,824.72 20 Spread Footing Concrete 53.5 CY \$165 \$8,831.11 21 Continuous Footing Concrete 142.8 CY \$165 \$23,586.50 22 Grade Beam Concrete 350.0 CY \$165 \$57,806.00 23 Elevator Pit 3.0 EA \$25,5961.97 24 Finish to Floor Deck Fill 77242.8 \$ St \$1 \$49,435.39 25 Slab on Grade Concrete Including Placing \$40.0 CY \$157.7 \$4,962.93 26 Slab Edge 31.7 CY \$157 \$4,962.93 27 J 1/2 Thick Lightweight Concrete Topping 1230.0 CY \$252.500 \$276,750.00 OUVISION 05- METALS Steel Metal Framing 50.0 \$280.1 \$57,152.62 30 Structural Steel 463.5 TON \$3,240 \$1,501,578.00 31 3' 18 GA Metal Deck 45689.4 \$F \$5.0 \$228,447.15 31 3' 13 GA Metal Deck<			Concrete				\$0.00	
Spread Footing Concrete 53.5 CY \$165 \$8,831.11 21 Continuous Footing Concrete 142.8 CY \$165 \$52,586.50 22 Grade Beam Concrete 30.0 EA \$8,654 \$52,596.197 24 Finish to Floor Deck Fill 77242.8 \$F \$1 \$49,435.39 25 Slab Edge 31.7 CY \$162.34 \$87,656.73 26 Slab Edge 31.7 CY \$157 \$64,062.93 3 1/2" Thick Lightweight Concrete Topping 1230.0 CY \$225.00 \$276,750.00 DIVISION 05- METALS 28 Steel Metal Framing State Edge \$1,501,578.00 29 Miscellaneous Bolts and Connections 463.5 TON \$3,778 \$157,126.29 30 Metal Decking Structural Steel 463.5 TON \$3,778 \$157,126.29 31 St GA Metal Deck 3553.4 SF \$5.0 \$228,447.15 \$3.3 32 11/2 18 GA Metal Deck 31553.4	18		Finish To Slab On Grade	31809.4	SF	\$1	\$20,357.99	
21 Continuous Footing Concrete 142.8 CY \$165 \$23,586.50 22 Grade Beam Concrete 350.0 CY \$165 \$57,806.00 23 Elevator Pit 3.0 EA \$8,654 \$25,961.97 24 Finish to Floor Deck Fill 77242.8 \$F \$1 \$49,435.39 25 Slab on Grade Concrete Including Placing 540.0 CY \$162.34 \$87,658.73 26 31.7 CY \$157 \$4,962.93 \$40.0 CY \$216.750.00 27 3 1/2 '' Thick Lightweight Concrete Topping 1230.0 CY \$225.00 \$226,750.00 28 Steel Metal Framing Subtotal (Concrete) Image: Concrete Concret	19		Miscellaneous Concrete- Curb, Pad	77498.8	SF	\$0.23	\$17,824.72	
22 Grade Beam Concrete 350.0 CY \$165 \$57,806.00 23 Elevator Pit 3.0 EA \$\$8,654 \$52,961.97 24 Finish to Floor Deck Fill 777242.8 \$F \$1 \$49,435.39 25 Slab on Grade Concrete including Placing 540.0 CY \$162.34 \$87,658.73 26 Slab Edge 31.7 CY \$157 \$4,962.93 27 Slab Edge 31.7 CY \$255.00 \$276,750.00 27 Steel Metal Framing 10 \$280,10 \$276,750.00 28 Steel Metal Framing 10 \$276,750.00 \$280,11 29 Miscellaneous Bolts and Connections 46.4 TON \$3,240 \$1,501,578.00 29 Miscellaneous Bolts and Connections 46.4 TON \$3,278 \$175,126.29 30 Roof Screen, Corrugated Metal Panel, Including Tube Steel Framing 2600.0 SF \$\$44.6 \$115,934.00 31 31 12 18 GA Metal Deck 31553.4	20		Spread Footing Concrete	53.5	CY	\$165	\$8,831.11	
23 Elevator Pit 3.0 EA \$8,654 \$25,961.97 24 Finish to Floor Deck Fill 77242.8 \$F \$1 \$94,935.39 25 Slab Edge 31.7 CY \$1517 \$54,962.93 26 Slab Edge 31.7 CY \$252.500 \$276,750.00 27 Steel Metal Framing 1230.0 CY \$225.00 \$276,750.00 28 Structural Steel 463.5 TON \$3,240 \$1,501,578.00 29 Structural Steel 463.5 TON \$3,240 \$1,501,578.00 30 Roof Screen, Corrugated Metal Panel, Including Tube Steel Framing 260.0 \$F \$44.6 \$115,934.00 31 3" 18 GA Metal Deck 45689.4 \$F \$5.0 \$228,447.15 32 11/2 1 8 GA Metal Deck 31553.4 \$F \$3.9 \$122,111.00 33 Deck Ending 312.3 \$11/2 1 8 GA Metal Deck 31553.4 \$F \$3.9 \$52,72,11.83 Metal Fabrication - <td< td=""><td>21</td><td></td><td>Continuous Footing Concrete</td><td>142.8</td><td>CY</td><td>\$165</td><td>\$23,586.50</td><td></td></td<>	21		Continuous Footing Concrete	142.8	CY	\$165	\$23,586.50	
Principal State Finish to Floor Deck Fill 77242.8 SF \$1 \$49,435.39 25 Slab on Grade Concrete Including Placing 540.0 CY \$162.34 \$87,658.73 26 31/2 CY \$157 \$4,962.93 27 31/2 Thick Lightweight Concrete Topping 1230.0 CY \$225.00 \$276,750.00 28 Steel Metal Framing Low Low \$280,10 28 Steel Metal Framing 463.5 TON \$3,240 \$1,501,578.00 29 Miscellaneous Bolts and Connections 46.4 TON \$3,778 \$175,126.29 30 Metal Peacking C L L L L 31 31/2 13/2 86,015 Ametal Deack 45689.4 SF \$5.0 \$228,447.15 31 31 14/2 18 GA Metal Deack 31553.4 SF \$3.9 \$122,111.50 32 11/2 18 GA Metal Deack 31553.4 SF \$0.9 \$69,748.91 33	22		Grade Beam Concrete	350.0	CY	\$165	\$57,806.00	
25 Slab on Grade Concrete including Placing 540.0 CY \$162.34 \$87,658.73 26 31.7 CY \$157 \$4,962.93 27 31/2" Thick Lightweight Concrete Topping 1230.0 CY \$225.00 \$276,750.00 27 Subtotal (Concrete) 5880.1 OUVISION 05- METALS Structural Steel 463.5 TON \$33,778 \$175,126.29 30 Miscellaneous Botts and Connections 46.4 TON \$33,778 \$175,126.29 30 Miscellaneous Botts and Connections 46.4 TON \$33,978 \$175,126.29 30 Metal Decking 31 18 GA Metal Deck 3153.4 SF \$3.9 \$12,211.150 32 11/2 18 GA Metal Deck 31553.4 SF \$0.9 \$69,748.91 33 Metal Fabrication \$22,375,1 34 Miscellaneous Metal 77498.8 SF \$0.9 \$69,748.91 35 Subtotal (Metals)	23		Elevator Pit	3.0	EA	\$8,654	\$25,961.97	
Slab Edge 31.7 CY \$157 \$4,962.93 27 3 1/2" Thick Lightweight Concrete Topping 1230.0 CY \$225.00 \$276,750.00 28 Subtotal (Concrete) 0 0 \$880,1 28 Steel Metal Framing \$3,778 \$1,501,578.00 29 Structural Steel 463.5 TON \$3,240 \$1,501,578.00 29 Roof Screen, Corrugated Metal Panel, including Tube Steel Framing 2600.0 SF \$44.6 \$115,934.00 30 Metal Decking 53,778 \$115,934.00 31 3" 18 GA Metal Deck 45689.4 SF \$5.0 \$228,447.15 31 1.1/2 18 GA Metal Deck 31553.4 SF \$3.9 \$122,111.50 32 1.1/2 18 GA Metal Deck 31553.4 SF \$0.9 \$69,748.91 33 Metal Fabrication \$123,000.00 \$135,000.00 4 GA Metal Deck \$22,370.0 \$135,000.00 \$22,3	24		Finish to Floor Deck Fill	77242.8	SF	\$1	\$49,435.39	
27 3 1/2" Thick Lightweight Concrete Topping 1230.0 CY \$225.00 \$276,750.00 Subtotal (Concrete) 0 5880.1 DIVISION 05- METALS Steel Metal Framing 5880.1 28 Structural Steel 463.5 TON \$3,240 \$1,501,578.00 29 Miscellaneous Bolts and Connections 46.4 TON \$3,778 \$175,126.29 30 Roof Screen, Corrugated Metal Panel, Including Tube Steel Framing 2600.0 SF \$44.6 \$115,934.00 Metal Decking 3" 18 GA Metal Deck 31553.4 SF \$5.0 \$228,447.15 32 11/2 18 GA Metal Deck 31553.4 SF \$3.9 \$122,111.50 33 Deck Ending 3529.4 LF \$7.7 \$27,211.83 Miscellaneous Metal 77498.8 SF \$0.9 \$69,748.91 35 Stair, Metal Pan, Concrete Fill (4'-8" Wide) 6.0 Flight \$22,500.0 \$135,000.00 DIVISION 06- WOOD Bation of the second of the	25		Slab on Grade Concrete Including Placing	540.0	CY	\$162.34	\$87,658.73	
Subtotal (Concrete) Image: Constraint of the second s	26		Slab Edge	31.7	CY	\$157	\$4,962.93	
Division 05- METALS 28 Steel Metal Framing Image: Construct of the state of the s	27		3 1/2" Thick Lightweight Concrete Topping	1230.0	CY	\$225.00	\$276,750.00	
Division 05- METALS 28 Steel Metal Framing Image: Construct of the state of the s								
Steel Metal Framing Steel Metal Framing Structural Steel 463.5 TON \$3,240 \$1,501,578.00 29 Miscellaneous Bolts and Connections 46.4 TON \$3,778 \$175,126.29 30 Roof Screen, Corrugated Metal Panel, Including Tube Steel Framing 2600.0 SF \$44.6 \$115,934.00 Metal Decking - - - - - 31 36 GA Metal Deck 45689.4 SF \$5.0 \$228,447.15 32 1 1/2 18 GA Metal Deck 31553.4 SF \$3.9 \$122,111.50 38 Deck Ending 3529.4 LF \$7.7 \$27,211.83 Metal Fabrication - - - - 34 Miscellaneous Metal 77498.8 SF \$0.9 \$69,748.91 35 Stair, Metal Pan, Concrete Fill (4'-8" Wide) 6.0 Flight \$22,500.0 \$135,000.00 36 Rough Carpentry - - - - \$22,375.1 36 Exterior Wall, Dangles 21			· ·					<u>\$880,144</u>
28 Structural Steel 463.5 TON \$3,240 \$1,501,578.00 29 Miscellaneous Bolts and Connections 46.4 TON \$3,778 \$175,126.29 30 Roof Screen, Corrugated Metal Panel, Including Tube Steel Framing 2600.0 SF \$44.6 \$115,934.00 31 3" 18 GA Metal Deck 45689.4 SF \$5.0 \$228,447.15 32 11/2 18 GA Metal Deck 31553.4 SF \$3.9 \$122,111.50 33 Deck Ending 3529.4 LF \$7.7 \$27,211.83 Metal Fabrication			1		1	1	1 1	
29 Miscellaneous Bolts and Connections 46.4 TON \$3,778 \$175,126.29 30 Roof Screen, Corrugated Metal Panel, Including Tube Steel Framing 2600.0 SF \$44.6 \$115,934.00 31 3" 18 GA Metal Deck 45689.4 SF \$5.0 \$228,447.15 32 1 1/2 18 GA Metal Deck 31553.4 SF \$3.9 \$122,111.50 33 Deck Ending 3529.4 LF \$7.7 \$27,211.83 Miscellaneous Metal 77498.8 SF \$0.9 \$69,748.91 34 Miscellaneous Metal 77498.8 SF \$0.9 \$2,375,1 35 Stair, Metal Pan, Concrete Fill (4'-8" Wide) 6.0 Flight \$22,500.0 \$135,000.00 DIVISION 06- WOOD Subtotal (Metals) 36 Rough Carpentry				462.5	TON	¢2.240	<u> </u>	
30 Roof Screen, Corrugated Metal Panel, Including Tube Steel Framing 2600.0 SF \$44.6 \$115,934.00 31 3" 18 GA Metal Deck 45689.4 SF \$5.0 \$228,447.15 32 1 1/2 18 GA Metal Deck 31553.4 SF \$3.9 \$122,111.50 33 Deck Ending 3529.4 LF \$7.7 \$27,211.83 Metal Fabrication 34 Miscellaneous Metal 77498.8 SF \$0.9 \$69,748.91 35 Stair, Metal Pan, Concrete Fill (4'-8" Wide) 6.0 Flight \$22,500.0 \$135,000.00 Subtotal (Metals) Subtotal (Metals) Subtotal (Metals) Subtotal (Metals) Stair, Metal Pan, Concrete Fill (4'-8" Wide) \$22,500.0 \$135,000.00 Subtotal (Metals) Subtotal (Metals) Subtotal (Metals) Stair, Metal Pan, Concrete Fill (4'-8" Wide) \$6.0 Flight \$22,500.0 \$135,000.00 Subtotal (Metals) DIVISION 06- WOOD </td <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>								
Metal Decking Metal Deck Sector Sector 31 31 B GA Metal Deck 45689.4 SF \$5.0 \$228,447.15 32 11/2 18 GA Metal Deck 31553.4 SF \$3.9 \$122,111.50 33 Deck Ending 3529.4 LF \$7.7 \$27,211.83 Metal Fabrication Image: Sector Sector SF \$0.9 \$69,748.91 34 Miscellaneous Metal 77498.8 SF \$0.9 \$69,748.91 35 Stair, Metal Pan, Concrete Fill (4'-8" Wide) 6.0 Flight \$22,500.0 \$135,000.00 DIVISION 06- WOOD Subtotal (Metals) \$\$2,375,1 Sitair, Metal Pan, Concrete Fill (4'-8" Wide) \$\$135,000.00 \$\$2,375,1 Subtotal (Metals) \$\$2,375,1 DIVISION 06- WOOD 36 Rough Carpentry \$\$2,1073.9 \$								
31 3" 18 GA Metal Deck 45689.4 SF \$5.0 \$228,447.15 32 11/2 18 GA Metal Deck 31553.4 SF \$3.9 \$122,111.50 33 Deck Ending 3529.4 LF \$7.7 \$27,211.83 Metal Fabrication Image: Constraint of the second s	30			2600.0	SF	Ş44.b	\$115,934.00	
32 1 1/2 18 GA Metal Deck 31553.4 SF \$3.9 \$122,111.50 33 Deck Ending 3529.4 LF \$7.7 \$27,211.83 Metal Fabrication Image: Constraint of the constr				45,000,4		65 Q	6220 447 45	
33 Deck Ending 3529.4 LF \$7.7 \$27,211.83 34 Metal Fabrication Image: Constraint of the system of t								
Metal Fabrication Image: Constraint of the system of the sys			· ·					
34 Miscellaneous Metal 77498.8 SF \$0.9 \$69,748.91 35 Stair, Metal Pan, Concrete Fill (4'-8" Wide) 6.0 Flight \$22,500.0 \$135,000.00 36 Subtotal (Metals) 36 Rough Carpentry 0 0 \$53,738.39 36 Exterior Wall, Dangles 21073.9 SF \$33 \$53,738.39 37 Base Cabinets, Plastic Laminate Countertop 775.0 SF \$363.6 \$281,759.00	33			3529.4	LF	\$7.7	\$27,211.83	
35 Stair, Metal Pan, Concrete Fill (4'-8" Wide) 6.0 Flight \$22,500.0 \$135,000.00 Subtotal (Metals) Image: Concrete Fill (4'-8" Wide) Image: Concrete Fill (4'-8"				77400.0		<u> </u>	¢ co 740 04	
Non-StateNon-StateNon-StateNon-StateSubtotal (Metals)Image: Subtotal (Metals)Image: Subtotal (Metals)Image: StateDIVISION 06- WOODImage: StateImage: State<								
DIVISION 06- WOOD Rough Carpentry Image: Carpentry	35			6.0	Flight	\$22,500.0	\$135,000.00	
DIVISION 06- WOOD Rough Carpentry Image: Carpentry			Subtotal (Motale)	L				\$2 275 159
Rough CarpentryImage: Carpentry36Exterior Wall, Dangles21073.9SFArchitectural WoodworkImage: Cabinets, Plastic Laminate Countertop37Base Cabinets, Plastic Laminate Countertop775.0SF\$363.6\$281,759.00			· · · · ·				I I	<u>32,373,130</u>
36Exterior Wall, Dangles21073.9SF\$3\$53,738.39Architectural Woodwork37Base Cabinets, Plastic Laminate Countertop775.0SF\$363.6\$281,759.00								
Architectural Woodwork Image: Constraint of the system 37 Base Cabinets, Plastic Laminate Countertop 775.0 SF \$363.6 \$281,759.00	36			21073 9	SF	\$3	\$53,738,39	
37 Base Cabinets, Plastic Laminate Countertop 775.0 SF \$363.6 \$281,759.00							+===,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
	37			775.0	SF	\$363.6	\$281.759.00	
					-		,	

FEM :	DWG. #	DESCRIPTION	QUANTITY	UNIT	UNIT COST	TOTAL COST	TRADE COST
39		Plywood Paneling At Telephone Room	2976.0	SF	\$5.3	\$15,861.81	
40		Upper Cabinets	387.0	LF	\$185.5	\$71,776.89	
41		Worktop, Laminate, Including All Supports	155.0	LF	\$151.9	\$23,539.85	
42		Full Height Cabinets	221.0	LF	\$341.2	\$75,414.04	
43		Vanity Unit, Solid Surface Countertop	126.0	LF	\$369.0	\$46,494.00	
44		Miscellaneous Casework Allowances (MOB)	77498.8	SF	\$2.3	\$174,372.28	
		Subtotal (Wood)					<u>\$836,163</u>
		DIVISION 07- THERMAL AND MOISTURE PROTECTION			l.		
		Thermal Protection					
45		R-19 Butt Insulation Exterior Wall	22276.3	SF	\$1	\$25,172.19	
46		Ridge Roof Insulation Poly ISO Insulation	31553.4	SF	\$3	\$110,121.23	
47		Vapor Barrier Beneath Slab On Grade	31809.4	SF	\$0.4	\$11,451.37	
48		Weather Barrier Membrane	21073.9	SF	\$2.7	\$56,899.48	
49		Vapor Control Barrier	31809.4	SF	\$3.5	\$110,378.48	
		Roofing And Siding Panels					
50		Rain screen System Including Support	21073.9	SF	\$44.6	\$939,684.31	
		Membrane Roofing					
51		Single Ply Membrane Roofing	31553.4	SF	\$7.2	\$227,184.19	
		Flashing And Sheet Metal					
52		Sheet Metal (On a GFA Basis)	77498.8	SF	\$1.2	\$92,998.55	
		Wall And Roof Specialties And Accessories					
53		Access Hatch	3.0	EA	\$2,379.8	\$7,139.28	
54		Walkway Pads	1078.1	SF	\$9.0	\$9,702.54	
		Fire And Smoke Protection					
55		Fire Roofing To Steel Work	509.8	TON	\$276.7	\$141,082.05	
56		Fire Safing At perimeter Wall	2092.0	LF	\$8.7	\$18,242.24	
		Joint Protection					
57		Miscellaneous Caulking And Sealants	77498.8	SF	\$0.3	\$19,374.70	
		Subtotal (Thermal And Moisture Protection)					<u>\$1,769,431</u>
		DIVISION 08- OPENING					
		Door And Frames					
58		Interior SC Wood Door, Single	250.0	EA	\$1,505	\$376,257.50	
59		Interior SC Wood Door, Double	28.0	EA	\$2,890	\$80,909.64	
60		Interior HM Door Single	13.0	EA	\$1,477.0	\$19,201.26	
61		Interior HM Door Double	1.0	EA	\$2,833.7	\$2,833.72	
		Specialty Door And Frames					
62		Ceiling Access Panel 24"x24	31.0	EA	\$155.8	\$4,831.04	
63		Exterior Sliding Glass Door	1.0	EA	\$6,750.0	\$6,750.00	
64		Smoke Containment Door	6.0	EA	\$8,421.1	\$50,526.66	
		Entrances					
65		Curtain Wall Vision Glazing	4809.6	SF	\$81.7	\$392,988.33	
66		Exterior Aluminum Window/Storefront, Vision Glazing, Generic	4114.0	SF	\$67.3	\$277,036.76	
67		Curtain Wall Spandrel Glazing	1202.4	SF	\$88.7	\$106,615.92	
		Window					
68		Interior Window	310.0	SF	\$54.7	\$16,947.70	
		Hardware					
69		Automatic Door Opening, Per Double Leaf Set	1.0	EA	\$3,043.2	\$3,043.21	
70		Interior Door Panic Hardware Per Leaf	16.0	EA	\$664.4	\$10,630.08	
		Subtotal (Opening)					<u>\$1,348,572</u>
		DIVISION 09- FINISHES					
		Plaster And Gypsum Board					
71		5/8" Thick Gypsum Board X, Finished Interior OF Wall	21073.9	SF	\$3	\$67,014.94	

SCOPE:

Concrete

DWG. #	DESCRIPTION	QUANTITY	UNIT	UNIT COST	TOTAL COST	TRADE COST
	Cementitious Backer Board At Wall Tiles	3719.9	SF	\$4	\$13,205.79	
	Miscellaneous Blocking/ Strapping And Backing	77498.8	SF	\$0.1	\$6,974.89	
	Exterior Metal Stud Framing 6" 18 GA at 16" OC.	21073.9	SF	\$9.1	\$192,404.52	
	Interior Gypsum Board 5/8" Thick Finishes (I4) Type X	154842.6	SF	\$3.0	\$461,430.92	
	Interior Gypsum Board Unfinished	5231.2	SF	\$2.0	\$10,619.28	
	Interior Gypsum Board 1" Thick Scoreboard At Shaft Wall	5231.2	SF	\$3.7	\$19,564.58	
	Interior Metal Stud Framing 6" 16GA At 16" OC.	17204.7	SF	\$6.5	\$111,486.65	
	Gypsum Board Ceiling Including Framing	7749.9	SF	\$12.0	\$92,998.56	
	Gypsum Board Soffit Drop Including Framing	7750.0	SF	\$14.4	\$111,367.50	
	Interior Metal Stud Framing 3 5/8" 20GA At 16" OC.	51614.2	SF	\$4.7	\$240,006.03	
	Interior Metal Stud Framing 2 1/2" 20GA At 24" OC.	12903.6	SF	\$4.1	\$53,420.70	
	Notched And Flat Backing	4898.8	SF	\$5.5	\$26,698.19	
	Interior Metal Stud shaft Farming 4"CH 20GA at 24" OC.	5231.2	LF	\$6.4	\$33,322.55	
	Tiling					
	Ceramic Floor Tile	3874.9	SF	\$13.9	\$53,822.92	
	Ceramic Wall Tile	3719.9	SF	\$14.3	\$53,343.94	
	Quarry Floor Tile	1550.0	SF	\$16.3	\$25,295.67	
	Stone Flooring	2325.0	SF	\$51.2	\$118,991.45	
	Ceramic Tile Base	930.0	LF	\$13.9	\$12,880.36	
	Quarry Tile Base	372.0	LF	\$16.6	\$6,175.03	
	Stone Base	558.0	LF	\$36.6	\$20,422.43	
	Ceiling					
	ACT Ceiling 2'-0"x4'-0"	63549.0	SF	\$4.5	\$283,428.58	
	Suspended Wood Panel Ceiling System	2325.0	SF	\$20.1	\$46,778.20	
	Flooring					
	Carpeting	7749.9	SF	\$2.9	\$22,474.65	
	Sealed Concrete	3875.0	SF	\$1.3	\$5,153.72	
	Resilient Base	4649.9	LF	\$2.9	\$13,298.80	
	Rubber Base 4"	12089.8	LF	\$6.1	\$73,989.64	
	Resilient Sheet Flooring	7749.9	SF	\$6.3	\$48,824.24	
	Resilient Tile Flooring	50374.2	SF	\$8.8	\$442,285.56	
	Wall Finishes					
	Fabric Wrapped Acoustic Wall Panel	2976.0	SF	\$11.2	\$33,419.92	
	FRP Panels	2976.0	SF	\$10.2	\$30,414.21	
	Vinyl Wall Covering	2976.0	SF	\$3.9	\$11,576.45	
	Acoustic Treatment					
	Interior Sound Batt Insulation	104623.4	SF	\$0.9	\$89,976.10	
	Painting And Coating					
	Interior Door Paint Finish Per Leaf	321.0	EA	\$91.7	\$29,419.65	
	Paint Wall	203118.5	SF	\$0.7	\$150,307.72	
	Paint Gypsum Board Ceiling/Soffit Drop	7749.9	SF	\$0.9	\$6,587.40	
	Paint Exposed Celling	3874.9	SF	\$1.6	\$6,044.91	
	Subtotal (Finishes)					<u>\$3,025,</u>
	DIVISION 10-SPECILITIES					

DIVISION 10-SPECILITIES				
Information Specialties				
Interior Code And Wayfinding Signage	77498.8	SF	\$2	\$153,447.60
Interior Specialties				\$0.00
Bathroom Mirror	504.0	SF	\$29.8	\$15,039.36
Toilet Cubicle, Standard, Stainless Steel	12.0	EA	\$1,443.9	\$17,326.44
Coat Hook	40.0	EA	\$22.8	\$913.20
Toilet Cubicle, Handicap, Stainless Steel	6.0	EA	\$1,556.0	\$9,335.88
Grab Bars	56.0	EA	\$153.4	\$8,590.96
Miscellaneous Wall Protection	77498.8	SF	\$1.0	\$76,723.80
Urain Screen Stainless Steel	6.0	EA	\$500.7	\$3,004.26

3,025,427

DWG. #	DESCRIPTION	QUANTITY	UNIT	UNIT COST	TOTAL COST
	Janitor MOP Sink Rack	8.0	EA	\$102.6	\$820.48
	Towel Paper Dispenser Combo Unit Recess	34.0	EA	\$276.7	\$9,409.16
	Saintly Napkin Dispenser	3.0	EA	\$310.4	\$931.14
	Saintly Napkin Disposal	25.0	EA	\$138.4	\$3,459.50
	Seat Cover Dispenser	40.0	EA	\$104.7	\$4,189.20
	Shower Accessories Per Stall	1.0	EA	\$793.0	\$793.04
	Soap Dispenser	42.0	EA	\$74.1	\$3,112.62
	Toilet Paper Dispenser	40.0	EA	\$65.1	\$2,605.20
	Safety Specialties				
	Fire Extinguisher And Cabinets	31.0	EA	\$332.8	\$10,316.80
	Storage Specialties				
	Locker 2- Tier Including Concrete Base	51.7	EA	\$198.3	\$10,244.09
	Exterior Specialties				
	Exterior Canopy Including Structure	1460.0	SF	\$180.0	\$262,800.00
	DWG. #	Janitor MOP Sink Rack Towel Paper Dispenser Combo Unit Recess Saintly Napkin Dispenser Saintly Napkin Disposal Seat Cover Dispenser Shower Accessories Per Stall Soap Dispenser Toilet Paper Dispenser Safety Specialties Fire Extinguisher And Cabinets Storage Specialties Locker 2- Tier Including Concrete Base Exterior Specialties	Janitor MOP Sink Rack8.0Towel Paper Dispenser Combo Unit Recess34.0Saintly Napkin Dispenser3.0Saintly Napkin Disposal25.0Seat Cover Dispenser40.0Shower Accessories Per Stall1.0Soap Dispenser42.0Toilet Paper Dispenser40.0Safety Specialties51.0Fire Extinguisher And Cabinets31.0Storage Specialties51.7Exterior Specialties51.7	Janitor MOP Sink Rack8.0EATowel Paper Dispenser Combo Unit Recess34.0EASaintly Napkin Dispenser3.0EASaintly Napkin Disposal25.0EASeat Cover Dispenser40.0EAShower Accessories Per Stall1.0EASoap Dispenser42.0EAToilet Paper Dispenser40.0EASafety SpecialtiesFire Extinguisher And Cabinets31.0EAStorage SpecialtiesLocker 2- Tier Including Concrete Base51.7EAExterior SpecialtiesImage: SpecialtiesImage: SpecialtiesStorage Specialties <tr< td=""><td>Janitor MOP Sink Rack8.0EA\$102.6Towel Paper Dispenser Combo Unit Recess34.0EA\$276.7Saintly Napkin Dispenser3.0EA\$310.4Saintly Napkin Disposal25.0EA\$138.4Seat Cover Dispenser40.0EA\$104.7Shower Accessories Per Stall1.0EA\$793.0Soap Dispenser42.0EA\$74.1Toilet Paper Dispenser40.0EA\$65.1Safety SpecialtiesFire Extinguisher And Cabinets31.0EA\$332.8Storage SpecialtiesLocker 2- Tier Including Concrete Base51.7EA\$198.3Exterior Specialties</td></tr<>	Janitor MOP Sink Rack8.0EA\$102.6Towel Paper Dispenser Combo Unit Recess34.0EA\$276.7Saintly Napkin Dispenser3.0EA\$310.4Saintly Napkin Disposal25.0EA\$138.4Seat Cover Dispenser40.0EA\$104.7Shower Accessories Per Stall1.0EA\$793.0Soap Dispenser42.0EA\$74.1Toilet Paper Dispenser40.0EA\$65.1Safety SpecialtiesFire Extinguisher And Cabinets31.0EA\$332.8Storage SpecialtiesLocker 2- Tier Including Concrete Base51.7EA\$198.3Exterior Specialties

	DWC #	DECODIDEION					
TEM	DWG. #	DESCRIPTION	QUANTITY	UNIT	UNIT COST	TOTAL COST	TRADE COST
\vdash		Subtotal (Specialties)					<u>\$593,063</u>
		DIVISION 11- EQUIPMENT		I	1	1 1	<u>,,,,,,,</u>
I I		Heath Care Equipment					
127		Installation of OFCI Equipment	77498.8	SF	\$1	\$80,598.74	
				0.	· · -	<i>\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\</i>	
		Subtotal (Equipment)					<u>\$80,599</u>
1 1		DIVISION 12- FURNISHINGS				1 1	<u> </u>
		Window Treatment				1	
128		Mechoshade Manual	4860.5	SF	\$12	\$60,318.18	
129		Mechoshade Motorized	1215.1	SF	\$12	\$21,932.56	
125			1213.1	51	<i></i>	\$21,552.50	
		Subtotal (Furnishings)					<u>\$82,251</u>
1 1		DIVISION 13- SPECIAL CONSTRUCTION			I	1 1	<u>302,231</u>
1 1		Integrated Construction			1	1 1	
120		Premium For Lead Wall Shielding At Imaging Rooms	640.0	SF	\$25	\$15,852.80	
130 131		Lead Shielded Door Single	1.0	EA	\$25	\$15,852.80	
				SF			
132		Lead Shielded Glazing	16.0	SF	\$200	\$3,200.00	
		Cubtotal (Supplied Construction)					ćaa 05a
		Subtotal (Special Construction) DIVISION 14- CONVEYING EQUIPMENT					<u>\$23,053</u>
		Elevator		1	1	1 1	
122			2.0	F A	ć0.000	¢10,000,00	
133		Elevator Cab Finished	2.0	EA	\$9,000	\$18,000.00	
134		Hydro Elevator Per Stop	6.0	STOP	\$29,199	\$175,191.66	
		Subtatal (Convering Equipment)					¢102.102
		Subtotal (Conveying Equipment)					<u>\$193,192</u>
		DIVISION 21- FIRE SUPPRESSION		1	1	1 1	
125		Fire Based Fire Suppression System	77498.8	SF	\$4	\$327,819.88	
135		Fire Protection System (MOB)	//490.0	55	Ş4	\$527,819.88	
		Subtatal (Fire Suppression)					¢227.020
		Subtotal (Fire Suppression)					<u>\$327,820</u>
		DIVISION 22- PLUMBING				1 1	
120			77498.8	SF	\$25	\$1,937,469.75	
136		Plumbing System (MOB)	//498.8	SF	\$25	\$1,937,469.75	
		Subtotal (Plumbing)					\$1,937,470
							<u>\$1,957,470</u>
		DIVISION 23- HVAC Heating, Ventilating And Air Conditioning		1	[1 1	
137			77498.8	SF	¢40	\$3,099,951.60	
157		HVAC System (MOB)	//490.0	55	\$40	\$5,099,951.00	
		Subtotal (HVAC)					\$3,099,952
		Integrated Automation Facility Control					<u> </u>
120			77400.0	65	ć r	6249 744 FC	
138		DDC Controls (MOB)	77498.8	SF	\$5	\$348,744.56	
		Cubeckel (Independent Assistant)			<u> </u>		6240 745
		Subtotal (Integrated Automation)		I		I I	<u>\$348,745</u>
		DIVISION 26- ELECTRICAL			1	1 1	
120		Electrical	77400.0	<u>сг</u>	Ċ 4.4	62 100 150 05	
139		Electrical System (MOB)	77498.8	SF	\$41	\$3,199,150.05	
		Colorad (Charles 1)					62 400 450
							<u>\$3,199,150</u>
		DIVISION 27- COMMUNICATION					

FEM :	DWG. #	DESCRIPTION	QUANTITY	UNIT	UNIT COST	TOTAL COST	TRADE COST
		Communication					
140		Communication System (MOB)	77498.8	SF	\$7	\$511,492.01	
		Subtotal (Communication)					<u>\$511,492</u>
		DIVISION 28- ELECTRONIC SAFETY AND SECURITY	1			, ,	
		Electronic Safety And Security					
141		Electronic Safety And Security System (MOB)	77498.8	SF	\$6	\$496,767.24	
		Electronic Detection And Alarm					
		Fire Alarm System (MOB)	77498.8	SF	\$3	\$261,945.91	
		Subtotal (Electronic Safety And Security)					<u>\$758,713</u>
		DIVISION 31 EARTHWORK	1			, ,	
		Earth Moving					
142		Foundation Layout	31809.4	SF	\$0	\$7,634.25	
143		Spread Footing Excavation	80.2	CY	\$17	\$1,392.45	
144		Spread Footing Backfill	26.7	CY	\$15	\$402.97	
145		Spread Footing Haul Excess	53.5	CY	\$10	\$557.69	
146		Continuous Footing Excavation	214.2	CY	\$17	\$3,718.69	
147		Continuous Footing Backfill	71.4	CY	\$15	\$1,076.00	
148		Continuous Footing Haul Excess	142.8	CY	\$10	\$1,489.51	
149		Grade Beam Excavation	525.0	CY	\$17	\$9,114.00	
150		Grade Beam Backfill	175.0	CY	\$15	\$2,637.25	
151		Grade Beam Haul Excess	350.0	CY	\$10	\$3,650.50	
152		Slab On Grade Sand Base -4"	31809.4	SF	\$1	\$45,169.29	
153		Slab on Grade Gravel Sub Base -6"	31809.4	SF	\$1	\$39,443.61	
		Subtotal (Earthwork)				I I	<u>\$116,286</u>
I I		DIVISION 33 UTILITIES	1	1	l .	I I	
154		Strom Drainage Utilities	770.0	15	¢ a c	¢20,200,07	
154		Perimeter Drain	778.9	LF	\$26	\$20,306.97	
		Subtotal (Earthwork)					\$20,307
SI	IBTOTAL	Subtotal (Earthwork)		[\$21,573,472.17
	ERHEAD	15%					\$3,236,020.83
	SURANCE	3%					\$647,204.17
	TINGENCY	5%					\$1,078,673.61
	L BASE BID						\$26,535,370.77
							-920,000,070.77
Note:							
1							
1							